BAHRERBERZR —ERVAERR

WEHEEE, RIRVORMBSE, AIEEF, B, BEROBEEICIYELLETOT, BBEIZOEELTIFERELTIELESLY,
X BIEHIE Ty FL—avH—~_RAA—4(ALOKA TCS-172B) |

REL/NERDHA. RERSHREZS2 (PA-1000) ZFEALTLET,
X RAEEOBA:Tv/oas—~)Lk /B

i BEE L ES)
% TREXE R ATt BIEER  |AIEER| BEB BTN XE®
Al 1em | 50cm 1m
= 51 % F MUWUEHFB1253% E (£ )|£EB|58118| 1335 i 0.06 0.07 0.07
B = ¥ 2 & HF Fj & 4 7 0 5% E ( x )|/KkEB|5A2H| 1430 2 0.06 0.06 0.06
E = ¥ 3 & &7 MEEEHFHBE715% E (£ )|£BEB|58118| 11:15 i 0.06 0.06 0.06
;? = ¥ 4 & F FMER1072—-45% E ( £ )|XEHB|5A8H| 1610 2 0.07 0.08 0.07
A MEE1HREFACEEMHFBEGLA1R E (£ )|£EB|48278| 1615 2 0.09 0.07 0.07
AMERE2HKBF ML M B 6 00E RN (L )| KEBHMAI19H| 1345 i 0.10 0.10 0.09
" & M R % # BEALE /N B 6 0OBE A ()| AKEHBH[4A198]| 1345 i 0.10 0.10 0.09
B |l1¥F & h % # BT B 5 9 2% E (£ )|£®EBA|58118| 1530 i 0.07 0.07 0.07
h M < T 4 #H OBEMRB3023 -1 E (£ )|/KkEB|589H| 1650 £ 0.06 0.05 0.06
HBLVREBEL R E[EXRyE3—26—1 W (2 )|KEB[5A28| 1105 2 0.07 0.07 0.07
b VR BFEB X EBEBEXE4I-14-1B R ( 2 )| KEBBA28| 1515 £ 0.05 0.05 0.05
ff\ ¥ 5 Y & B BE/NBEHFH210—-1E AN ( 2 )| XEBI[5A 18| 1530 i 0.06 0.06 0.05
Lﬁ'ﬁ HKEFEBEEINMAEREE/NDIEKR27 86 — 1 m (£ )|KERB|5A2A8| 1450 £ 0.07 0.07 0.07
TUR—SEVIRBEEASVEB A2 -2 —-2B N ( £ )| XEBI|5A 18| 1505 i 0.09 0.09 0.08
% Twl B s mfos6-20—4/@ ® (£ )|KWA5H08| 1530 | B | 007 | 006 | 006
B * & & B BN ® 4 0 7 3BE KW ()| KEBH|[5A2A8| 1550 2 0.08 0.08 0.07
_ BECELEMALEXEN B 1 1 3 O W (£ )| KEH|SA0B| 1545 i 0.07 0.06 0.06
TE\ %E:§%m?“f;‘tgs’ﬁéﬂéfrﬁ1—1o—4 m (X )| KEBR|5A1H| 1555 & 0.06 0.06 0.05
E RECEIBELVE=—2BEFEXE2—35—1 m (£ )| XkERB|5A1A8| 1450 i 0.07 0.06 0.06
EtRsERECLLBEELRyE4-14—-6E W ( : )| KEB|5 A 28| 1050 2 0.09 0.09 0.09
HHVWREELELHEB F 31 9 0B M (£ )|AEBR|5A108| 1440 i 0.09 0.09 0.08
g 20 25 N7 Mngi1ss 3@ M (t)|&WASANA| 1010 | B | 010 | 009 | 009
B BU-2l5vF#b0FEETR,-E1-14-3EB W ( £ )|KEB|5A28| 11:30 2 0.07 0.07 0.05
1:; v F b Y & F BEBN1393-77B RN (MR )| xEB[5A8H| 16:20 g 0.08 0.08 0.08
MmN F KN R 1 6 6 1|1 BE (X )| KIER|SA2H| 1610 = 0.07 0.07 0.06
# HF OH N 2 KA HFH2047K E (£ )|£EB|58118| 1615 i 0.07 0.06 0.06
= i\ 2 B2 K 16 9 2%k E (£ )| &£BA|4A278| 1510 = 0.11 0.09 0.08
= B 2 KT B 4 2 2% E (X )|£BEBE|58118| 1510 i 0.09 0.08 0.07
w B N F KK B 2 3 7 9%k E (X )|KEBI[BA9IBE| 1740 = 0.07 0.07 0.08
i ® /I 2 B2 & 1 38 1 3% E (£ ) €«BRA|5R118| 1435 i 0.08 0.07 0.07
% A B O 0 BmM O E 2 4 1|&® E (L )| KEBHM4BA198| 1400 i 0.08 0.08 0.06
& + @ o F KEEZB1250% E (L )|&£EB|4A278| 1550 2 0.08 0.08 0.08
E B N ¥ ®E B 9 7 1 E (L )|KEBR|5H2H| 1025 g 0.06 0.05 0.06
NN FE OB O 8 5 8k E (£ )|AKER|5A108| 1615 i 0.06 0.06 0.06
B & N F KB X & 3 — 1k E (£ )| KERB|5H2H| 1540 E 0.09 0.09 0.07
E T Ry B M2 REXTRyE2-18-1(& E ( £ )|KEH[5EA 28| 11:20 £ 0.10 0.09 0.09
% *%%.%tiﬁ‘ F’ﬁ\%;ﬁ % F 8 4 0O E (£ )|x®EB|[4A28H| 16:00 = 0.08 0.07 0.07




e ) o ‘ ‘ BIEEGh EEE)
4 R 2L A7zt BIEZAT  |RIEEB| BER |AIERM XIE

i 1ecm | 50cm | 1m
= & 2 &H H HE 6 00K E (L )KEB|5A108| 1415 E 0.08 0.08 0.08
EE X K & % ®Mm XK H 2 5 4% E (£ )|KkEB|5A98| 1720 £ 0.09 0.09 0.08
g & M B f 2 KEHF N 9 5 O,k E (L )AKEB4B198| 1430 i 0.06 0.06 0.06
NOHB R KBoe1—14—2|% E (L )| KEB|5B108| 1600 i 0.05 0.05 0.05
ERTATUT4T59VR/INKR 3983 — 1|8N(AIZ)|/KEH|5 28| 1650 £ 0.07 0.07 0.07
QE\%/A & B ® o @Al ®F 1 7 7 O W (£ )|KER|5A9R| 1755 s 0.06 0.06 0.06
£ 15 H % 82 8 B/ME1978— 1|8, (L) KEBBE|582H| 1630 g 0.11 0.10 0.10
3 = Fr &% H 1 9 SEHEGZ(HE)EEBBANA| 1645 i 0.09 0.07 0.06
F KA o0 = J S/E E B 55 8#% #h (£ )LEBE|5A11H| 1105 7 0.11 0.10 0.10
EEITHFEEEERE B 7 1 1% E (£ )| KEB|58108| 1400 £ 0.07 0.07 0.07
ETFEHINIEERE A HFBEIOONKR E (£ )| £BERA|4B27H| 1525 £ 0.05 0.05 0.06
® o XN IR BRESHESOT 2|t ()| £EB|5A11HE| 11:25 i 0.09 0.10 0.09
a mOFE @ # KR FEMNMIIMAEERA(L)EEA|SAITA| 1250 7 0.12 0.11 0.10
HIM = 4K B £ % L F W 6 4|HHMRN(HA)LER|SA1TH| 1230 i 0.15 0.14 0.12
E@#Bﬂ:sl:ﬂtya—§#m1geoﬁatmm(i)ﬁﬂ?éa 58 118| 16:30 i 0.14 0.12 0.09
W E H HB 2 & 2 BUEHFB1732B R (£ )|&£EB58118| 1315 3 0.11 0.10 0.10
;% 4 % #EESFMATL4T7 - 1EHMRN(BRA)|£BEBESAITA| 1355 i 0.15 0.14 0.13
H 5 & R SH|bhBE423 - 1&#HR(L)LBERA|SAI1A| 1550 i 0.08 0.07 0.07
ﬁ;‘% fEl i # F 1 0 9 2R (L) EEA|SA11E| 1415 i 0.11 0.10 0.09
T HZFLVBEBARALBEBRSE1T458 B W ()| &EBSA11HE| 1450 i 0.12 0.11 0.10
WEIS2a=-TsEV424—|HRE2675— 18N (L) KEBBAIBE| 1705 = 0.10 0.09 0.08
BWEGSHFEREL2CBFSTEII-—100E N ( £ )|£BEABAI1E| 1705 i3 0.05 0.04 0.05
g*§%6<bi,s\nam\a>ﬁ#$ £ 5 3 OE W ( £ )|KERBI|5A9H| 1630 £ 0.10 0.09 0.09
(™% 6 2 @ B8 B & BH E 3 4 oA (L) XEB|5H8H| 1645 ) 0.13 0.11 0.11
B2 R Q0B BE X150 2% (F)AkEBR|5AS8H| 1635 g 0.12 0.09 0.09
FE - 2 HfE KB 1176HESH(L)RNEB|5R108| 1335 g 0.10 0.10 0.09
B @R THBENMNE229 - 1|8 # (£ ) £EBHBA11E| 1055 i 0.15 0.13 0.12
E-F N B R B OHT/HMBE 21628 # (£ )| KEBR|4A198| 1330 iy 0.12 0.12 0.10
& ™M ERE O &M B 2 3 7EHES(HEZ)AERA|4A198| 1415 i 0.13 0.11 0.11
W oW E B o BHE & 66 — 1B AW ()| KEB[5A2H| 1040 g 0.08 0.08 0.08
+B X B & 2 B KX 3 5EMAN () KEB[SA2H| 940 £ 0.09 0.09 0.09
MaixsmerneEsters—|8E KA 5 1 — 18k A ()| SBB[48278| 1540 = 0.10 0.09 0.09
MEARETMAEL EB1240HA (L) EER|4F278| 1605 g 0.11 0.10 0.09
M OB OE OE WM O FTA 6 2 8 — 4EHM AN (MR KER|5A2H| 1005 ) 0.13 0.10 0.10
é*ﬁ&]i@é(%ﬁ:ﬂ:mzess—7m(j:)7kB§_E|5ﬁ2E| 9:50 2 0.09 0.09 0.08
SMELAREERESEE M 1 4 3 EHM AN ()| KEBBA2H| 1015 g 0.10 0.09 0.08
® o & ® 2 BH# o & 37T HEW®W () AEABAI0B| 1505 i 0.10 0.09 0.09
INEOIZa=FaEVvE—|/N $8 8 4 8|HHMAN(FHE)AEB|5H10R| 1645 i1 0.13 0.12 0.12
IV 8 7] = EHEOEI—1— 4R (L) AEB|5A108| 16:30 BE 0.13 0.10 0.09
Bl R % # X BE 5 2 5 6 O & H (+)|ABB|58108| 1450 i 0.10 0.09 0.09
wm /B & O N BE/ AE29 -2 R (L )EEBBAITA|] 1020 i 0.11 0.10 0.09
MRAFERNEZELVI-|M K 5 2 oMKW (L)EEBE|5A11A| 1030 7 0.11 0.13 0.11




i ] ) o ) ) BIEE( )

% %% Fh FrTEHh BIEGRE  [BIEREE| BIER [BIEEE XIE

Al 1cm 50cm 1m
o) ) 2 B £ & 3 T BI[E A ( £ )|/KkEB|5A828| 1500 ) 0.06 0.06 0.06

H

0%),55;5'6;5’/.\\%1"%’7&5TEW(:t)KBEEEISEHEI 15:20 5 0.08 0.08 0.08

m;;t/utatl,ﬁzﬁ.s:t%frﬁ1TEm ( £ )| XkEBR|5828]| 11:40 ) 0.08 0.08 0.07
HOWEIIa=TFosbo 4| ET R4 —4—1|BEE S ()| KEBH|4B198| 1540 =3 0.07 0.07 0.07




